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Instructions 
Use your Response Document to answer question 20. 

 

1. The House of Fido is a dog-grooming salon. One week, the owner polled 50 
customers and determined that only 38% of them take their dogs for a walk every 
day. There are 294 families in a nearby township that own at least one dog. 
According to the salon owner's findings, which whole number is closest to the 
number of dog owners in the nearby township who take their dogs for a walk each 
day? 

A. 19 

B. 93 

C. 112 

D. 194 

  
2. Albert wants to organize a party and decides to save money for it. He calculates that 

he needs at least $420 in 9 weeks. He already has $60. Write an inequality that 
Albert could use to find x, the least amount of money he should save every week for 
his party. 
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3. The list below shows all the possible outcomes for flipping a fair coin 3 times in a 
row. 

 

Which fraction represents the probability of getting at least 1 heads? 

A. 
7
8
 

B. 
3
4
 

C. 
1
6
 

D. 
1
8
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4. At a fruit stand, 4 limes cost 80 cents. Which equation can be used to find the cost, 
y, in cents for x number of limes? 

A. 𝑦𝑦 = 𝑥𝑥
20

 

B. 𝑦𝑦 = 20𝑥𝑥 

C. 𝑦𝑦 = 40𝑥𝑥 

D. 𝑦𝑦 = 80𝑥𝑥 

5. A river current carried a fallen tree branch 
1
3
 of a mile in 

1
4
 of an hour. At what 

speed is the water in the river flowing, in miles per hour? 
 
 

6. The table below shows the number of students who play different instruments in a 
music class. 

INSTRUMENTS PLAYED 
Instrument Number 

of Students 
Guitar 7 
Keyboard 12 
Piano 5 
Trumpet 7 

If one student from the class is chosen at random, which possibility would be most 
likely to occur? 

A. The student who is chosen plays the keyboard or the trumpet. 

B. The student who is chosen plays the guitar or the trumpet. 

C. The student who is chosen plays the keyboard or the piano. 

D. The student who is chosen plays the guitar or the piano. 

  
7. A company ships its products in a storage container in the shape of a rectangular 

prism. The base of the prism is a rectangle with a length of 4 meters and a width of 
1.5 meters. The height of the container is 2.5 meters. What is the volume of the 
storage container in cubic meters? 
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8. The cost of plain yogurt at Yummy’s Frozen Yogurt is shown in the table below. 

Cup Size Price  
(in dollars) 

Small 1.45 
Medium 1.75 
Large 2.05 

Part A. The cost of additional toppings on the plain yogurt is $0.75 each. Write an 
equation to find the total cost, C, of a medium yogurt with t number of toppings. 

Part B. Use the equation in Part A to find the cost of a medium cup of yogurt if 𝑡𝑡 = 2. 

Use words and/or numbers to show your work. 

  
9. The table below shows the daily sales of television sets at two electronic stores, 

Store A and Store B, for a week. 

NUMBER OF TVS 
SOLD AT TWO STORES 
Day Store A Store B 
1 21 27 
2 25 29 
3 11 30 
4 27 21 
5 20 26 
6 28 9 
7 26 22 

Part A. What is the most appropriate measure of center to compare the two data 
sets? Explain your reasoning. 

Part B. Compare the two data sets using that measure of center. 

Part C. Find the interquartile range for each of the two data sets. Compare the 
variability of the two data sets using that measure. 

Use words, numbers, and/or pictures to show your work. 
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10. Mr. Colby needs 22 chargers for a classroom computer cart. The cost per charger is 
constant. The table below shows the cost of different numbers of chargers at an 
electronics store. 

Number of 
Chargers 

Total 
Cost 

5   $34.75   

8   $55.60   

15  $104.25   

Based on the data in the table, what will be the cost, in dollars, of 22 chargers? 

  
11. Delilah wants to fence in an area of land in which to keep chickens. She buys 31 feet 

of fencing to enclose a circular area. 

If 9 square feet will support one chicken, what is the greatest number of chickens 
Delilah can keep enclosed in the fenced-in area? 

A. 3 

B. 8 

C. 10 

D. 34 

  
12. Jerome won a school competition to design a mural for the cafeteria wall. Jerome’s 

scale drawing was 12 inches wide and 9 inches tall. The actual mural will be 20 feet 
wide. How tall will the actual mural be, in feet? 
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13. Point F is plotted on a number line at −3
5
. Which point is farthest from −3

5
? 

A. Point A at − 9
2
 

B. Point B at 0 

C. Point C at 
5
3
 

D. Point D at 
9
2
 

  
14. The number a is less than 0 and the number b is greater than 0, and |𝑎𝑎| > |𝑏𝑏|. Which 

statement is true about the sum of a and b? 
A. The sum of a and b is greater than 0. 
B. The sum of a and |𝑏𝑏| is greater than 0. 

C. The sum of a and b is |𝑏𝑏| units to the left of a. 

D. The sum of a and b is |𝑎𝑎| units to the left of b. 

  
15. The number of students in a school club increased from 32 to 36. By what percent 

did the number of students in the club increase? 

  
16. What is the result when 6𝑎𝑎 + (−4𝑏𝑏) is subtracted from 12𝑎𝑎 + 13𝑏𝑏? 

 

 
17. Solve the following equation using two different methods. Briefly explain both 

methods. 

1
2

(𝑥𝑥 + 3) = −0.27 
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18. Which situation could be described as the product of 3 and -4? 
A. At noon, the temperature was 0°. During each of the next 3 hours, the 

temperature increased by 4 degrees. 
B. At noon, the temperature was 0°. During each of the next 4 hours, the 

temperature increased by 3 degrees. 
C. At noon, the temperature was 0°. During each of the next 3 hours, the 

temperature decreased by 4 degrees. 
D. At noon, the temperature was 0°. During each of the next 4 hours, the 

temperature decreased by 3 degrees. 

  
19. Regina used nuts and fruits to make trail mix. The graph below shows the quantities 

of nuts and fruits she used for each serving. 

 
What do the points on the graph mean in this context? 

  
20. Aaron is going to help make pancakes for a charity breakfast. He makes the 

pancakes from a pancake mix. He uses 2 cups of pancake mix to make pancakes for 
6 people. 

  

Part A. If Aaron uses 5 cups of pancake mix, how many people can he feed with the 
pancakes he makes? Be sure to show your work. 
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Part B. If Aaron wants to feed 20 people, what is the minimum amount of pancake 
mix he will need? Be sure to show your work. 

  

Part C. Aaron wants to feed 15 more people pancakes at the breakfast, but he has 
run out of pancake mix. Aaron decides to make his own pancake mix. He uses 

3
4
 cup 

of flour, 3 tablespoons of sugar, and 1 tablespoon of baking powder per one cup of 
pancake mix. How many tablespoons of sugar does Aaron use when making the 
exact amount of pancake mix he needs to make pancakes for 15 people? Be sure to 
show your work. 

 

Part D. Draw a graph, like the one shown below. On the graph, draw a line that 
represents how much sugar is needed when making homemade pancake mix for 1–
20 people. Label the axes of the graph. 
  

 
  

Part E. Decide whether the two quantities (sugar and people) are proportional. 
Explain how you know by looking at the graph. 

Part F. Aaron wants to make the pancakes sweeter by adding 1 tablespoon of sugar 
to each cup of homemade pancake mix. How does the extra sugar change the ratio 
of sugar to people? How does the extra sugar change the line on the graph? Are the 
two quantities (sugar and people) proportional? Explain your answer. 

  
Part G. Because people liked Aaron’s pancakes so much, he decides to share his recipe 
with the cook at his school. Aaron gives her the following recipe for 25 cups of pancake 
mix. 
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• 18 cups flour 
• 75 tablespoons sugar 
• 30 tablespoons baking powder 

Are each of the ingredients in proportion to the amount used in the recipe in part 
C? If not, how much of each ingredient should be in 25 cups of mix? Be sure to 
show your work. 

 

 

Place an "X" in the answer box below. 

Answer the question on the Response Document provided.  

Click next.  

 


